LH2 5342-5366

1.010 ~

1.005 ~

1.000 ~

o

o

o

(%]
I

Accp/Total scaler count
o
wo
o

T T
30 40 50 60

Current [uA]
LH2 5342-5366

0.8

0.7 A

0.6

0.5 A

TLT

0.4

0.3

0.2

0.1 +

T T
30 40 50 60

Current [uA]

HMS LH2 5342-5366

10.010 4

10.005 +

10.000 4

9.995 +

9.990 ~

Scaler EDTM rate [HZz]

9.985 +

o0

Current [uA]
HMS LH2 5342-5366

T T
30 40 50 60 70

Time [min]

T T
30 40 50 60 70

Current [uA]

EDTM Rate [kHZ]

EDTM Rate [kHZ]

HMS LH2 5342-5366

0.015 +

0.010 ~

0.005 ~

0.000 ~

—0.005 A

—0.010 A

5 10 15 20 25
HMS Rate [kHZ]
SHMS LH2 5342-5366

0.015 ~

0.010 ~

0.005 ~

0.000 ~

—0.005

—0.010 +

T T
10 20 30 40

SHMS Rate [kHZ]




Yield Scaler

Rel.

Yield Scaler

Rel.

HMS LH2 5342-5366

1.08

1.06

1.04 +

1.02 4

1.00

0.98 -

0.96

0.94

0.92
0

1.08

T T
25 50 75 100
Current [uA]

SHMS LH2 5342-5366

1.06

1.04

1.02 +

1.00 —o—g—®——————

0.98

0.96 -

0.94

0.92

0

T T
25 50 75 100
Current [uA]

Yield track

Rel.

Yield track

Rel.

HMS LH2 5342-5366

1.08

1.06 -

1.04 +

1.02 4

1.00 +

0.98 -

0.96

0.94 1

H

0.92

1.08

T
0 50

Current [uA]

T
100

SHMS LH2 5342-5366

1.06

1.04

1.02 +

1.00 4

0.98

0.96 -

0.94 1

t

0.92

T
0 50

Current [uA]

T
100

HMS track eff

SHMS track eff

HMS LH2 5342-5366

1.04 +

1.03 4

1.02 +

1.01 +

1.00 4

0.99 +

0.98 4

0.97

0.96 -

» ¢%6 o ®

10 20
HMS Rate [kHz]

SHMS LH2 5342-5366

1.00 +

0.99 +

0.98 4

0.96

0.95 +

0.97 - +

10 20 30 40
SHMS Rate [kHz]

TLT

CPULT

LH2 5342-5366

0.8 -
®
0.7 -
0.6 -
0.5 -
]
0.4 - _
®
0.3 - ™
]
0.2 1 @
]
0.1 -
20 40 60
Current [uA]
LH2 5342-5366
1.0 1@
0.8 -
0.6 -
e ]
0.4 1 @
®
]
0.2 - s}
]
20 40 60

Current [uA]




Yield Scaler

Rel.

Yield Scaler

Rel.

HMS LH2 5342-5366

1.08

1.06

1.04 +

1.02 +

1.00

0.98

0.96

0.94

0.92

1.08

80

20 40 GID
Current [uA]

SHMS LH2 5342-5366

100

1.06

1.04

1.02 4

1.00

0.98 -

0.96 -

0.94

0.92

80

20 40 GID
Current [uA]

100

Yield no track

el.

Yield no track

el.

HMS LH2 5342-5366

1.08

1.06

1.04 +

1.02 +

—— y=-5.877e-03x+1.179
y=-5.877e-03x+1.000

1.00

0.98

0.96

0.94

by

0.92

80

20 40 GID
Current [uA]

SHMS LH2 5342-5366

100

1.08

1.06

1.04

1.02 4

—— y=-2.351e-03x+1.098
y=-2.351e-03x+1.000

f

1.00

0.98 -

0.96 -

0.94

0.92

80

20 40 GID
Current [uA]

100

Yield track

Rel.

Yield track

Rel.

HMS LH2 5342-5366

1.08

1.06

1.04 +

1.02 +

—— y¥=-5.898e-03x+1.178
y=-5.898e-03x+1.000

1.00

0.98

0.96

0.94

0.92

+
|

Current [uA]
SHMS LH2 5342-5366

100

1.08

1.06

1.04

1.02 4

— y=-1.904e-03x+1.083
y=-1.904e-03x+1.000

Pt

1.00

0.98 -

0.96 -

0.94

0.92

80

20 40 GID
Current [uA]

100



